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Tén: Ngay thang: Piém:
6x° — dx + 2x — 5x — dx? 42 = 3x0) + 20 + 4%’ + 6
24x* — 270) + 4 — 4 + 4y Tx+ 2% — 6x° + dx — 6x
Sx2 + 8% — 6x° — 3(3x° — 3x7) 4% + dx — 4(9x — 9% — 4x°
3+ X+ 3(7x— 7x3) + 8x? x— 3 + 3(8)62 — 6x2) +2x
x+4x+7x3+4(x3—2x) 2 — T + 8x% — 6x° — 3x?
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Don gian hoa da thiic

Tén:

6x° — dx + 2x — 5x — 4x?
6x° — 4 — Tx

2(4x — 2°) + 4x — 4x + 4x®
8x*

5 + 8¢ — 6x° — 3(3x° — 3x?)
—15x° + 22x°

3 + X2 +3(Tx — 7x3) + 8x?
—17x° + 8¢ + 21x

X+ dx+ 7 + 4(x3 — 2x)
11x° — 3x

Ngay thang:

420 = 3x%) + 2 + 4x° + 6x
14x> — 1222 + 6x

Tx+ 2% — 6x° + dx — 6x
—6x° + 27 + 5x

4% + 4x — 4(9x — 9x%) — 4x*
36x% — 32x

x— 3% + 38 — 6x2) + 2x?
3+ 8% +x

2x— 7% + 8% — 6x° — 3y
—6x> — 2% + 2x
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